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Week 21  

Session 2

Calculate your 

Ninja Score to see 

which Ninja Belt 

you’ve earned 

today!



















Challenges
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Whitney is calculating the missing angles in the shape.

She says,

Do you agree? 

Explain why.

The missing angles are 60 

degrees  because 180 ÷ 3 = 60
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Alex has this triangle.

She makes this composite shape using identical 

triangles to the one above.

• Calculate the perimeter of the shape.

• Calculate the missing angles.

Use your own triangle, square or rectangle to make a 

similar problem?

60°

60° 60°

57 mm 57 mm

57 mm
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b
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Answers
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Whitney is calculating the missing angles in the shape.

She says,

Do you agree? No

Explain why. We know the angles on a straight line = 180º. It is an isosceles triangles 

so the other two angles are equal. That means they will be 45º each.

The missing angles are 60 

degrees  because 180 ÷ 3 = 60

90º    

We know that this is a right angle.

45º 45º
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Alex has this triangle.

She makes this composite shape using identical 

triangles to the one above.

• Calculate the perimeter of the shape.

• Calculate the missing angles.

Use your own triangle, square or rectangle to make a 

similar problem?

60°

60° 60°

57 mm 57 mm

57 mm

a

b

c9 x 57 = 513mm

A = 180º
B = 120º
C = 180º
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